H & 0l & AHS B Ml A

od
i’
oF
uJ

RIBS|S |82 & 218 N &|(© & S el &R
SIS e < b o ~ = © |
R [<l<l<l<7] < < a|<
E
F=)
S5[RIRIRIE®|E & 88 2 L8 8 S 218 &
SIS|S|S 2= < @ o © | © S o | D NS
LikEd
RIS
SIklkIkFIe 88383338 8L 2 835 IY YIRS INIINSESI IS 338 3|88
N|N|§|N|—Z N § © b 0 d & v 6 - a6 - F 0 0d-laaN®e=lecdn oS oRe d|a|N
al
<
=3
srgrenggs sy mg ww [z zm |z @ § | @
SECitiait a: 22 2ol 2 o3| 2 @ g oz
o S X W W ool < W = X S g 5 oL 7 o
o) oF) 5% % OF — <t S
ﬁ =-%9886888 5822 58 48| % || % o8 8| ¢
> = 3 3 > > >
&l & 5%c¢8 8 g =8 8§ z g g 8
= S & S
= 2
o i
< !
~ = o = £l . _
_— — 0 ol — s 0 — O D §{m D [ D O D
A ol 5 TR e Gl - TR I
@ I t = =N = & o M_m N oy E“__ = S KE KF KE KE g KF 0 w0 | Kl
F Ho Ho Ju.u_ o < M_J. = o R M_. £ ﬂ oF OF gf OF g OF |5 (< <F|KDO
o ~ ol o o M_. 4 MT 3K &0 W 4 KO <k K 5 W A | |sn 8 @ 3z & [Ro|oF OF |5
. S 8 m O Wz = T W Ok O oz H = M0 ooF OF s W 5 Drija 8 2 < B0 3w | 3
= n0 oH|lm < X O 1+ ~ o~ Ul N 3 oy 0 <V O 30 ~ S A= S |kfow B X & oy OF|<k| 0D
x X oifof WOOF B0 ooaro- O K0S B WA W AN N oA e ®x X WS
RO = Sl 44 WET < < o ® =~ A Ok al ok I I |s|ir s o W~ ~ & RO IR R R R0
. Dlslnl=ln OO0 00000000 0O00qOO0O0 Sz O o Olglz Oy O 5 Olsls O
g moﬂowcmo =) Qe =] Sle =) Qe x_.ac
Ik (|~ BJ |
8|0 |~ A0 [20
m._mﬂ 0




SN 223
Hu: 2P FOIME HOl ZX
Rl dEetd g (Gt H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
C2 2 Skl 2el 53,585 63,038 29,453
101 @124H| 32,320 31,548 772
M ORNZZE2NSE S 32,320 31,548 772
O 2Y EH| oy 17,890
N ES/RCICT
193,440 x5 +5 2 +33] 14,508
—F5=4 193, 4403 x5&H x 12 +33] 2,902
—1NEEE 17,409,6002 *1.75% 305
—&HEE 17,409,600 * 1% 175
O3eHl &l ofYy 14,430
—QI2Y 87,7603 x8& x4 +43] 11,234
—F=5=g 87,7603 x8& x 1L +42] 2,809
—1NEZE= 14,041,600 *1.75% 246
—&HHEEE 14,041,600 * 1% 141
206 M=l 1,265 1,490 N225
01 M=4l 1,265 1,490 N225
OZHII| 428 X 72
1,265,000& 1,265
401 Al HIZL S 0HYI 20,000 20,000
01 Al&H| 20,000 20,000
OFodg SN ALES
10,000, 000214} 10,000
OBIADIN E28 HA
2,500,000 *43] 10,000
22T EAME 19,531 45,256 ND5,725
101 ©1AH| 4,871 4,75%6 115
M ORNZZ2NSE S 4,871 4,75%6 115
o2&l 4,871
-2y 87,7602 x3+5 2«33 3,950
-5+ 87,7603 x32 12 +33] 790
—1EEBEE 4,739,040%1.75% 83
—AHEEE 4,739,040 * 1% 48
201 Ler23 | 420 500 N80
01 Al 22IH| 420 500 80
OBZ ¥ BSH X4 HIE 2
420,000 420
206 M=l 4,240 5,000 AT60
01 M=4l 4,240 5,000 AT60
OZZxH Hg2 S 7¢ 4,240
—2S¢ 4 e 5 7Y
1,740,000 *14] 1,740
—HEZ E 5 7Y
25,0003 *100H 2,500
401 AIEHIX SO 10,000 30,000 /20,000




2N =2
Hu: 2P FOIME HOl ZX
el MEeEdEl (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
01 Al&HI 10,000 30,000 /20,000
OMSRAT| F¥ A7 AL
10,000,000 10,000
FUSTAS 226,620 251,800 A\25,180
401 Al HIZ S OHbI 226,620 251,800 A\25,180
01 A28l 225,000 250,000 A25,000
OanE &2 AL
20,000,000 20,000
OFKOtE S22 LESA
10,000,000& 10,000
OOAIGHS OtAZE HEESAL
15,000,000 15,000
ONENS OtAE ZHIA
10,000,000& 10,000
OulElIE 45 AIISA
20,000,000 20,000
ORgits 45 ZIISA
20,000,000 20,000
ONB0IE 52 EIBA
15,000,000& 15,000
OF&E 02 OtAZ MEESA
15,000,000 15,000
OgMitE R4 HHISA
10,000,000 10,000
Ooa=lle 226 FHIZA
15,000,000 15,000
OXIZ0t2 Eti+==2 &XIZA
15,000,000 15,000
OSH0IE 45 IS
20,000,000 20,000
ONAlE &2 E3X
15,000,000 15,000
OotS0t= Bi+=2 ZEXISAt
10,000,000& 10,000
OHEllE s+2 2XSA
15,000,000 15,000
03 Al = THHI 1,620 1,800 A180
OAIZ 20HHI 225,000,000 *0.72% 1,620
A2 ZoidE 2 294,219 303,143 8,924
o ety 2K 89,660 85,340 4,320
301 EtE NS 89,660 85,340 4,320
o7 8801 - 32243 85,340 85,340 0
Ooolg & ety gs=24= 85,340
-0 &=+ 300,000 x18H = 12& 64,800
—01&3a0= 300, 0002 « 18 22 10,800
—0IFEIY BALY
20,0002 x 18 *23| 12 8,640




2A:
X XH -
o e

=aak

22104

OO

S0 FOIME BOl ZX
AlDl EHOIE 2

SA - ZE . BR() - HRAR - BES of v G o HIDE2
—gryag 25,0003 22 *22] 1,100
14 DBt 2 a3 4,320 0 4,320
O01E Saldl A& 20,0002 x 182 * 122 4,320
Uy 2548 82 905 1,170 A265
201 fer= 3| 740 870 A130
01 At 2|l 740 870 A130
OgdEs S &% & i1
110,000 #22] 220
OIPIRE WE HAIK &&=
120,000 120
O=2UFHHLE LM XF22 e
20,0002 102 =23 400
301 LEtE NS 165 300 A135
11 AALRHIXIRS 165 300 A135
OHd 213 & HAFA 0 24
3,000 +55 165
gl | & SUIRSAIE 2l 7,590 7,622 AZ2
201 er23| 4,950 4,862 88
2 5234l 4,950 4,862 88
Oxtg==ol 3,250,000& 3,250
OXtg= Al 950,000 950
Osgs2d =AM Ul S
250,000 #3042 750
206 M=l 640 760 A120
01 MZH| 640 760 A120
OAERX 425 +# 640,000 640
401 AIEHIX SO 2,000 2,000
01 Al&H| 2,000 2,000
OSUIRIEAIZ RA2e
2,000,000 %14 2,000
At 57,998 74,514 16,516
201 =3 23,114 23,974 A860
01 At22t2l] 13,754 4,318 9,436
OFAIR2IZH E4 238,000 * 122 2,8%
O34 249 620,000 122 7,440
Ost&al didl 22l 30,0002 * 12 360
OFAF 2810 5™ 20,0002 *15H 300
OFAEE 7Y 1,598,000 1,598
Odatx H4 =8
100,000& *2H 2=*32] 600
OAYHTAIE B =58
200,000 %14 200
omysas 400,000 *14] 400
2 35244l 9,360 19,65 210,296




SN 223
M 2P FOIME HOl ZZ
el A B EG (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
OFSPIEei=] 630,000& 122 7,560
O3 100,000& * 12 1,200
OdeyI| =&= Xl 200,000 *34 600
206 M=l 884 1,040 A156
01 MHZHI 884 1,040 A156
OFAIZRY S HIS 7 144,000 144
OFAL & SHAE 2L
60,0002 27} +23] 240
OMEE Haizs 2y 25,0002 x20 % 500
401 Al&HI L2 CHH] 34,000 45,000 A11,000
01 Al 34,000 45,000 A 11,000
OFAF T2 2IH] 5,000, 0002 5,000
USSR e BA
9,000,000 14| 9,000
OBAIRA: EUZ HIHSAL
20,000,000 *14] 20,000
S X2 2e] 44,432 48,050 A3,618
201 fer=3| 18,992 20,050 1,058
01 AtR2t2|H] 10,692 2,408 8,284
OFe3H g9 158,500« 12& 1,902
odlssi2 34 89
620,000 122 7,440
Oztad 83 7 750,000 750
O3t 4 =8 200,000 %14 200
OALATAEE B2
200,000& *14] 200
o4z &4 20,0002 10H 200
2 s5=34l 8,300 17,642 N9,342
OdJIR3 550,000 * 12 6,600
Og=ERs 100,000 ~12& 1,200
Odittg)] A2l & =&KX
250,000 23 500
301 EtE NS 13,440 16,000 22,560
14 IIEt2 83 13,440 16,000 2,560
O=8XXl Z208 LA+ 13,440
—ZZ2H S 3§ HE
80,0003 4423 13,440
401 AIEHIZ SR OHYI 12,000 12,000
01 Al&HI 12,000 12,000
OHlE=X2 Ald =87 X
3,000,000& 3,000
Otls=sA2 =8 & HHAE
9,000,000 %14 9,000
e H2=A2 & St 2€ 15,672 6,697 8,975




SN 223
M 2P FOIME HOl ZZ
SRl A2 FEEE2E (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
201 er23 | 3,672 3,697 N25
01 At2teltl 1,492 1,517 VAVZS)
ONS 2 3iEa 8F 79
821,000& 821
OblS=7tH E=J| 2l 55,900« 123 671
02 s3=gHl 2,180 2,180 0
Oo&IIe3 120,000« 12& 1,440
OM%E23 20,0002 122 240
OpHYs U SNR3 50,0002 500
401 Al&2HIZ S H| 12,000 3,000 9,000
01 Al&H| 12,000 3,000 9,000
OSINH LS CHl 2 H42A
9,000,000& 9,000
O=7tH =Xl2elbl 3,000,000& 3,000
FoITRI2E 4,360 4,740 A380
201 er23 | 3,360 3,690 A330
01 At2teltl 3,360 3,690 A330
OFQUXXIAS HI(LASIS EA
20,0003 x20 2 *43] 1,600
O=F2UXNXIARE JAXAS XtE SR
800,000 1CH 800
OXSAI2ZE AN 219 &4 &
20,0002 * 12 *42] 960
206 M=l 400 450 A50
01 MZH| 400 450 A50
O=gNXEZZIY 25 7
20,0003 20 400
301 EetE2 NS 600 600
11 #AIAHIXIE S 600 600
OF2UAAAE 2 d&XAS FHL24
0,0003*20 *13] 600
HISSXHHOIZMSHESEAIY) 64,002 65,010 ~1,008
101 @124H| 32,708 32,034 674
M ORINZZENSE S 32,708 32,034 674
OBIS=AIHE Ald2te| el 32,708
-2 43,8803 x2Hx22Ux 122 23,169
—F5=4 43,8802 x2H+52 x 12 5,266
— ¢ x==g 43,8802 x2&* 11 966
—4HEE 3,307,000& 3,307
201 Ler23| 28,294 29,976 1,682
01 At2teltl 15,3% 6.816 8,578
ORoIBHIES 235,000 x 122 2,820
O834E4H 620,000 * 122 7,440
OAREE 7Y 118,000 118




od
i’
o
uJ

-

KIO

Hlw

210,260

A0
AA00
AN400

HMEE
Ofl &k2h

23,160

3,000
3,000

10,000
10,000
10,000

Ofl &F2H

600
1,200

800
1,056

960
200

200
12,900
10,800

900
1,200
3,000
3,000

3,000
9,600
9,600
9,600

9,600

- HyS

- SRA(3) - HIRAEY

S - B

ol

Ho
00
a0

<
)

50,000 * 123
100,000 « 122

ol

Ao

<
o

3
44,0003 =20 =123

200,000 %4

O&==J| 2eld
otidl

22l

80,000 123

200,000& *14]

200,00024 14!

80
0H
Mo
Mo

Oo&IIe3

900,000 122

75,0003 123
100,000& « 122

401 AIEHIYL 20

01 AlIZHI

Zeldl

CHIS=XHE =X

3,000,000&

30
OH

0}
oF)

Ok

01 AtR2telbl

3

100,000&x6H 16

Ho




